RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving the Revised By Laws of the Cultural Center/Museum Committee and Recognizing the Cultural Center/Museum Committee as Being Representative of All the Districts of the Tohono O'odham Nation)

RESOLUTION NO. 01-504

1	WHEREAS,	the Tohono O'odham Nation recognizes the importance of cultural history as part of
2		an educational priority; and
3	WHEREAS,	the Tohono O'odham Nation recognizes the importance of keeping "himdag" alive now alive the tohono O'odham Nation recognizes the importance of keeping "himdag" alive now the tohono O'odham Nation recognizes the tohono O'odham Nation the tohono
4		and into the future; and
5	WHEREAS,	the Tohono O'odham Nation supports the concept of a Cultural Center/Museum for
6		the Nation; and
7	WHEREAS,	the Tohono O'odham Legislative Council supports the funding of a Cultural
8		Center/Museum for the TohonoO'odhamNation, having passedResolution2000-275,
9		$approving \$15,\!191,\!080.00forplanning,design,construction,staffingandoperations$
10		for a proposed Cultural Center/Museum; and
11	WHEREAS,	the Tohono O'odham Nation Legislative Council's Cultural Preservation Committee
12		supports the revised By Laws of the Cultural Center/Museum Committee and
13		recognizes the Cultural Center/Museum as being representative of all District of the
14		Tohono O'odham Nation; and
15	WHEREAS,	the Cultural Center/Museum Committee is comprised of the following representative
16		$members: {\bf MargaretRivas-Ruiz, Baboquivari; GloriaChavez, ChukutKuk; MaryLopez,}$
17		Sif-Oidak; Mary Jane Juan-Moore, Schuk Toak; Stanley Cruz, Pisinemo; Marlene
18		Geronimo, Sells; Rose Martin, Gu Achi; Linda Preston, San Xavier; Shirley Manuel,
19		Hickiwan; Frances Cachora, Gu Vo and (Vacant), San Lucy.
20	NOW, THE	REFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it
21		hereby supports and approves the Cultural Center/Museum Committee's revised By
22		Laws.
23	BE IT FURT	HER RESOLVED that the Tohono O'odham Legislative Council approves the Cultural
24		Center/Museum Committee as being representative of All Districts of the Tohono
25		O'odham Nation.

	SOLUTION NO. <u>01-504</u> oproving the Revised By Laws of the Cultural Center/Museum Committee and Recognizing the ltural Center/Museum Committee as Being Representative of All the Districts of the Tohono O'odham tion) ge 2 of 3							
1	The foregoing Resolution was passed	l by the Tohono O'odham Legislative Council on the 09 TH . Day						
2	of <u>OCTOBER, 2001</u> at a meeting at wh	nich a quorum was present with a vote of 1,586.95 FOR: 830.55						
3	AGAINST; -0-NOT VOTING; and [0] ABSENT, pursuant to the powers vested in the Council by Section							
5	1 <u>(b)</u> of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary .							
6	rOdnam Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - ndian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48							
	at. 984).							
8	·							
9		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
10		Oten a mart To						
11		July ge man						
12		Rita A. Martinez, Legislative Chairwoman						
13		11th A.T.						
14		11 day of Claud, 20 01						
15								
16	ATTEST:	Rita A. Martinez, Legislative Chairwoman Hay of Octalus, 20 0						
17	Keel Gard							
18		Man Jan						
19	Julianna Saraticio, Acting Legislativ							
20	09 121	-01						
21	day of <u>CCCC</u> , 2							
22								
23 24	Said Decolution was submitted for a	navoval to the office of the Chairman of the Tahana Oladham						
25	Notice on the 15th day of	pprovario the office of the Chairman of the Tohono O'Odham						
26	nursuant to the provisions of Section	s = of Article VII of the Constitution and will become effective						
27								
28	upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.							
29	Submittal.							
30		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
31								
32		Otra G mal						
33		Rita A. Martinez, Legislative Chairwoman						
34								
35								
36								
37		· A						
38	[∖ APPROVED	on the day of October, 200/						
39	⁷	on the Hay of October, 20 0/ at 3:32 o'clock, L.M.						
40	[] DISAPPROVED	at $\frac{3.32}{6}$ o'clock, $\frac{1}{2}$.M.						
41		90 m						
42	,	/ Kline & Illamed						
43	-	EDWARD D. MANUEL, Chairman						
44		TOHONO O'ODHAM NATION						
45								

	(Approving the Revised By Laws of the Cultural Center/Museum Committee and Recognizing the Cultural Center/Museum Committee as Being Representative of All the Districts of the Tohono O'odham										
	Nation) Page 3 of 3										
1	Returned to the Legislative Secretary on the day of										
2 3	October 20 01 at 4:20 o'clock D M										
4	, at										
5 6	October, 2001, at 4:20 o'clock, p.M. Denne M. Grafor										
7	Julianna Saraficio, Acting Legislative Secretary										
8											
10											
11 12											
13											
14 15											
16 17	·										
18											
19 20											
21											
22											
24											
25 26											
27											
28 29											
30											
31 32											
33 34											
35											
36 37											
38											
39 40											
41 42											
43											
44											

ACTION:

APPROVING THE REVISED BY LAWS OF THE CULTURAL CENTER/MUSEUM COMMITTEE AND RECOGNIZING THE CULTURAL CENTER/MUSEUM COMMITTEE AS BEING REPRESENTATIVE OF ALL THE DISTRICTS OF THE TOHONO OVER A MANAGEMENT OF THE TOHONO OVER A M

O'ODHAM NATION

MOVED:

COUNCILWOMAN FRANCES MIGUEL

SECOND: COUNCILMAN DAVID GARCIA

DATE:

OCTOBER 09, 2001

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	158.85	X			
317.7	() 2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	x	·		
CHUKUT KUK	KENNETH WILLIAMS (Juanita Homer)	124.05	X			
248.1	2. DAVID GARCIA (Mary Audrey Juan)	124.05	х			
GU ACHI	1. CAMILLUS LOPEZ	115.35	X			
230.7	2. ALEX J. RAMON (Jerome Joaquin)	115.35	X			
GU VO	1. FERN SALCIDO	94.15		X		
188.3	2. EMILIO LEWIS (Michael Flores)	94.15	х			
HICKIWAN	1. SHIRLEY MOLINA**	83.65	x			
167.3	2. SANDRA ORTEGA	83.65	х			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	87.35		X		
174.7	2. PATRICIA CRUZ (Johnson Jose)	87.35	х			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35		X		1. 18
160.7	2. GLORIA RAMIREZ	80.35		X		
SAN XAVIER	1. TONY BURRELL	92.35	x			
184.7	2. DENNIS RAMON ()	92.35	X			
SCHUK TOAK	1. MARY FLORES	72.25	X			
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25		X		
SELLS	1. DENNIS E. JOSE	208.05		x		
416.1	2. EVELYN JUAN**	208.05		X		
SIF OIDAK	1. ISIDRO LOPEZ	92.35	x			
184.7	2. RITA MARTINEZ (Nicholas Jose)	92.35	X			
T	TOTAL			830.55	-0-	-0-

^{**}PASSED VOTES